SASMO 2024, Pn‘maz 1 (Grade 1! Contest

Section A (Correct answer — 2 points| No answer — 0 points | Incorrect answer — minus 1 point)
Section A (ER-2%| FEE -0 | FER-®19)
Question 1

Calculate the sum below.

WHETHIRT

22+16+8+ 14

60
61
50
59
40

moo®»

Question 2
8 less than 35is __.

k350892 .

A. 17
B. 26
G 27
D. 28
E 38
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Question 3

Which one of the following is an even number?

THEF, BNERER?

A. 17
B. 369
¢ 111
D. 5

E 732

Question 4

6+ 18isthesameas ___ + 7.

6+185___ +71HE

19
17
24
27
18

monw»
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Question 5
Find the order of the toys from the longest to the shortest.

BTmEEESENSERERF.

Toy D, Toy B, Toy A, Toy C
Toy D, Toy A, Toy C, Toy-B
Toy C, Toy B, Toy A, Toy D
Toy D, Toy A, Toy B, Toy C
Toy A, Toy D, Toy B, Toy C

moow»
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Question 6

How many dots are there in the figure?

T™BR—HEEZO1TR?

e e e e o000 00

e e e o000 o0 e o 0

A EEEREEEREEEEEERE

e e 000000000 00

e 000000000000

e e e o0 e 0000 °

° o ) e e ®
A. 80
B. 79
C. 78
D. 77
E. 76
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Question 7

Find the picture below which is exactly the same as the
picture on the right.

THBMETFANE G —R—H?
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Question 8
How many bricks are needed to fix the wall below?

MRWEEEXEE, HeERESDER?

1 1 1 1 L1 1 |
L1 1 1 1 1 1
J 1 1 1 1

I N I -

1

30
31
32
33
34

moow»

Question 9

What is the next number in the sequence below?

@, T 1EE?

20,19,17, 14, 10, ...

moow>
oONOYUL B
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Question 10

The diagram shows some cubes of the same size stacked at a corner of a room.

How many cubes are there altogether? (Note: The floor is horizontal and the two
walls are vertical. There are no gaps or holes behind the visible cubes.

MERTR, BEAEERE—LABRANIIG R, BE—HESONIAE? (R R
BEXKFNEREEREEN. ZAREEBEHUEAEILRE)

30
29
28
27
26

moOow»
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Question 11

What is the missing piece of the figure below? FEIFYERZER/DP—3E5?

/// .

/////

Y

7| |

%

A.

B. C
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Question 12

How many triangles are there in the figure below?

TERHBZION=HER?

moow»

10
11
12
13
14




SASMO 2024, Primaz 1 SGrade 12 Contest

Question 13

At a garden party, four flower pots are named Daisy, Rose, Tulip and Jasmine. Daisy
and Tulip are the same size. Daisy fits inside Rose, and Rose fits inside Jasmine.
Considering this information, which of the following statements is-true?

E— MRS L, BOMER, BINEFos52 Daisy. Rose, Tulip#{
Jasmine, Daisy 1 Tulip 89RJ48[E). Daisy B3 Rose R, 1) Rose fE2&i#H Jasmine
., REXYLER, LITBNRARIERL?

Jasmine can fit inside Tulip Jasmine gE3&i# Tulip &
Jasmine can fit inside Daisy Jasmine BE3&i# Daisy &
Tulip cannot fit inside Rose Tulip A<gE%&# Rose
Daisy cannot fit inside Rose Daisy A~gE3%i# Rose &
Tulip can fit inside Jasmine Tulip &2 Jasmine p

m o 0N w >

Question 14

Alice, Bella and Claire sit around a circular table, each with a different accessory:
bracelet, necklace or earrings. The girl with the necklace is seated to the left of Alice.
Claire is to the left of the girl with the earrings. What accessory does each girl have?

Alice, Bella #1 Claire :TE—MEIKEE, SMASHEARENNGR: Fik. DHEEERR.
RASTIHEAYLCIZALTE Alice T8, Claire TERVEERNZEZNLIL. BR8N LZD
BIRAEHAhER?

A. Alice — necklace, Bella — earrings, Claire — bracelet

Alice — I, Bella — EIR, Claire - F§%

10
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B. Alice — bracelet, Bella — necklace, Claire — earrings
Alice — 4%, Bella - I, Claire — 3R

C. Alice - earrings, Bella — bracelet, Claire — necklace
Alice — E3X, Bella — F4§%, Claire — Iiih§

D. Alice — earrings, Bella — necklace, Claire — bracelet
Alice - X, Bella - Ififi, Claire — 4%

E. Alice — necklace, Bella — bracelet, Claire — earrings
Alice — Iiii%, Bella - 35%, Claire - H3f

Question 15

Fold a piece of paper three times and then cut along the dashed line. What image
will be revealed when the paper is unfolded?

B—REIFR=R, ARBERENET. S4EKRFANSRHABR?

\ oy
I S
&

Section B (Correct answer — 4 points| Incorrect or No answer — 0 points)

11
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Section B (BSER -4 £ | ESHEREFES-0 H)

When an answer is a 1-digit number, shade “0” for the tens, hundreds and thousands place.
Example: if the answer is 7, then shade 0007

When an answer is a 2-digit number, shade "0” for the hundreds and thousands place.
Example: if the answer is 23, then shade 0023

When an answer is a 3-digit number, shade “0” for the thousands place.

Example: if the answer is 785, then shade 0785

When an answer is a 4-digit number, shade as it is.

Example: if the answer is 4196, then shade 4196

LERBMISE, WETLL. SfTbRE 0" .
pil]: WREFE 7, ik 0007,

LERERE, SERMATANRLE 0" .
Pl HIREFE 23, iliF 0023,

HERBR=(UME, EETRLE 0" .

DIk HIREE 785, iR 0785,

SERROEE, BERAHER.

Pt MIREFZE 4196, 1% 4196,
Question 16

What is the missing number in the pattern below?

HAE, TEPSREERESD?

321 843 333 412 513

E@®E O




Question 17

12

SASMO 2024, Pﬁmaz 1 sGrade 12 Contest

In a classroom, there are a total of 40 pencils divided between two pencil cases.
After moving 12 pencils from the first case to the second one, the first case has 8
more pencils than the second case. How many pencils were initially in the first case?

EHEE, AR 40THESIIEERMEERE. BEF—MABREN 123
BB _MAERE, BF—MABRUBTMAEARS 8 SHRE. BaBYS—
MEEREFBORE?

Question 18

How many days are in a month that begins on Monday and ends on Wednesday?

— P BLUE—HERA=ER, BaXTAREZLX?
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Question 19
It is given that

YOERf7R

x

24 ¥ 24
26 36 49

I
N
W

‘\
What is the value of %?

%ﬁﬁﬁ-z&?

Question 20

The sum of the digits of an odd 3-digit number is 9. What is the largest possible
such 3-digit number?

— MR R ESEF 2N 9. TEXHEN=(UE, BARRIRENEESD?




Question 21

14
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I am a 3-digit even number.

. All my digits are different.
. The digits in my number are arranged in increasing order from left to right.
° The digits in my tens and ones places add up to 8. »

What number am I?

RE— =M@,

RS M EAMFETERE.

* RSN E M F RN BIAF T RRIFAHES.
* FAS LI LB MU EROE 2 F R 8,
RRM28F?
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Question 22
Study the picture and find the missing number.

TETE, KHEREHIE

Question 23

How many 3-digit numbers have only even digits?

BEON =S ERESF R
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Question 24

Two years ago, Tom was three times as old as Bob. Three years from now, the sum
of their ages will be 30. What is the difference between their ages now?

FREFRI, Tom RUSEIRR Bob MI=f%. =F/F, MINNFRSME 302, MIINENERE
RB?

Question 25

How many different 2-digit odd numbers can be formed using an odd number of
matchsticks in total?

BIC)E ST SR SR —H AT LAE RS D BRI S




